SHSEE AHKER AR SF546 A28
B[
F T fli s EALEE
NO ES BEIG EHEE
(Bi3RE) (Bi3RE)

1

SHSHEE FRTHAFREHLHATFILEA EHEH) i [E 5680 Hh 1 BEAMFLS 9,720,000 9,456,000
2

SHSHEE HEEEHEFR (AREESHAE) EE=TH3M4EIS {EBEE R K (k) 2,266,000 1,900,000
3

SHSHE HEEBEBFIE\IBBEXFESHRS #iE5680F ih 1 (B) racsd 2,170,000 1,850,000
4 |FHSEE BEVONEIMILEAZEOLEITLEFICLIATEBRRIVUE
| |REXFEERE 5680 Hh 1 (k%) BRI B 5 1,740,000 1,650,000
5

SHSHE WEEEHEBRE(HERAAFTS) AE—TH1%E#1 JBEEZ (FD 1,733,600 1,580,000
6

SHSEE REXBLIGIFH 2EFMHEEEERRT AE—TH (B) SRR =TT F 2,680,000 2,500,000
7

13—y EHRRR VT O HE F [(EHAIRTA] AE—TH 1% LI ESEACEI) 113,494,560 88,800,000
8 Ya—SwsS () TS —E REEAH

SIPTATUNE RS L (EEEIRTA] AE—TH 1% zﬁng @Qﬁ%ﬁggﬁﬁ CAERRE 50,903,220 38,471,400
9| . (%) K3 Ea—4T F=7Y)

IGN—Toz7 AT LB LEHFEBTE] AE—TH 1% U RBEER 18,712,800 15,882,000
10

SHSEE BB CHNIEBHEEA AE—TH1EH1 BEWLWOESER 873,000 700,000
11

SHSEE a2 y) -t REFZHNEEA (BE{fi259) J\$E#h X () HH T T 11,262,640 11,014,450
12

SHSFEELXFEEEMBA (HHZ2E) £ig SHRERTE@BHERE 2,832,000 2,580,000




